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A AL
LR N
Xlejsior o

el S0t & (&t &2
SN - =B S9(3H) - MRAE - BaS S SR b=
01 ZLHO4H] 4,224 4,374 A150
=0 4 4,224 4,374 A150
OXIeiBior g2 =7
88,0003 x2H 23| x 12& 4,224
203 LRF&d| 2,000 3,000 A1,000
03 AIMF=RIH R F=XIH| 2,000 3,000 21,000
S0 & 2,000 3,000 A1,000
Oxeislor g2 =/ 2,000
OLIRIRIE e - Paeel (A - EA0 IS L0E /0l 4,783,308 5,881,118 ~1,097.810
KL K2R )
= 1,506,750
J| 91,385
= 762,310
Al 2,422,863
NIUXIARE s~z 22| 748,778 1,761,314 21,012,536
= 6,750
J| 91,385
= 142,310
Al 508,333
OHXIES 25 F& 2,500 2,500 0
201 et H| 2,500 2,500 0
01 Al222IH 2,500 2,500 0
=0ar 2,500 2,500 0
ONLIXIES B2 840t H%
50,000 80K 400
OUIYXIZ B2EE 7Y
3,000& 70004 2,100
b - HIIAE JHE KR 12,794 8,876 3,918
== 1,198
Al 11,596
403 XXISHMSA=01H 12,794 8,876 3,918
& 1,198
Al 11,596
02 SI|2S0CHet =N <AEAIS ] 12,794 8,876 3,918
= 1,198
Al 11,596
=0 A 12,794 8,876 3,918
= 1,198
Al 11,596
OMASSE HIIAE HEAS (45017) 3,994
& 1,198
Al 2,796
OLF HIIAIE INE A 8,800
ATHAEUH X XIS K& AS 205,145 559,680 A34,535




=N

I‘IiH:

algsainl;

OIUXIRR JHe - Eg2el(ae - B4
DOHXIAE a2l

Dlk= =V [EDNVAGIEPNE=DNC=D =)

el (el me
SRR S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” HDE2
J| 63,385
Al 141,760
201 LE29H| 31,700 21,400 10,300
01 AF222telb] 800 800 0
S0 A 800 800 0
OMTHMHH KX HR=& 800
02 B32gH| 30,900 20,600 10,300
S0 A 30,900 20,600 10,300
OXMTHHHUKIEH 232= 30,900
o AMIHAMAUHXIEH] AN MRS
50,000 x12& 600
o AMIHAMAUHXIEH] AN SARS
25,0002 x12& 300
o AMTHAMAUIHX 2EHAIE SAE2H| 30,000
202 o4d| 2,640 2,430 210
01 Z2LHAH Y] 2,640 2,430 210
=0l & 2,640 2,430 210
OAMTHAIH X 28 28 od]
88,0002 *x3H 102l 2,640
401 Al&EH|1L 20| 170,805 535,850 A365,045
J| 63,385
Al 107,420
01 Al&HI 150,805 495,850 A345,045
J| 63,385
Al 87,420
S0 A 150,805 495,850 A345,045
J| 63,385
Al 87,420
OATHAOIL X UHDIBHEEAIE (2
) 150,805
J| 63,385
Al 87,420
02 2eltd] 20,000 40,000 A20,000
=0 A 20,000 40,000 /20,000
OAITHAMOIL X SO BHE L AIS (22
24) 20,000
LPGED| AFZ2It2 AIEIJASA 14,556 8,972 5,584
= 6,750
& 2,025
Al 5,781
202 04| 1,056 972 84
01 2L Y] 1,056 gr2 84
=0l & 1,056 gr2 84
OIJAAAE 2UKE BE g8
83,0002 x2 2 *x63] 1,056
403 XXISHMS K201 13,500 8,000 5,500




A AHIL
A UK K - 2522l (4e - SAI S L0 X/ KL XL RO )

=2l XX —’F—S‘:’ﬁal (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 6,750
& 2,025
Al 4,725
02 SI|2S0CHet A=< EAIS ] 13,500 8,000 5,500
= 6,750
& 2,025
Al 4,725
S0j &t 13,500 8,000 5,500
= 6,750
= 2,025
Al 4,725
OLPGEI| AFEIHT AN ALY 13,500
= 6,750
& 2,025
Al 4,725
HASE Y AIZEXAE LS LM(HEEaS &4t 40,000 80,000 40,000
Atd)
J| 28,000
= 3,600
Al 8,400
401 AIEHIZLS0IYI 40,000 80,000 240,000
J| 28,000
& 3,600
Al 8,400
01 Al&HI 40,000 80,000 40,000
J| 28,000
& 3,600
Al 8,400
S0/ & 40,000 80,000 40,000
| 28,000
& 3,600
Al 8,400
OMASS LEDE WHAIS 40,000
J| 28,000
= 3,600
Al 8,400
ATHAHAH K F=EHXRALS 32,690 30,680 2,010
& 9,807
Al 22,883
402 QIZ2ERH=01H 32,690 30,680 2,010
= 9,807
Al 22,883
02 DIZEXEAIE B X (01 EARA) 32,690 30,680 2,010




2AM:

X ZH -
o=

algsainl;

HIUXIZHE JHe - Sl (&Y - SAIS LU /HIU XL XHRIHE)

OIUXIRHE =g2tL

chel: (e &3
S - B S9(3H) - NSAY - BES S SR HDS2
== 9,807
Al 22,883
20 & 32,690 30,680 2,010
& 9,807
Al 22,883
O THAN X =X RAALS 32,690
& 9,807
Al 22,883
MRS JIAANE N (ZHIEX) 2,700 2,700 0
= 810
Al 1,890
403 RtXISHMSA=01H 2,700 2,700 0
& 810
Al 1,890
02 BI12S0 Ut =X 2AE ALY 2,700 2,700 0
= 810
Al 1,890
20 & 2,700 2,700 0
& 810
Al 1,890
OMASESE 13 I3 JIAAE 22 FA 2,700
& 810
Al 1,890
ey HIIN3E A 4,313 4,013 300
308 AtXIEHHISOIA 4,313 4,013 300
11 S| 2SHUEHE A X E ALY 4,313 4,013 300
204 & 4,313 4,013 300
OREEIIM2E At 4,313
SAOA BSXE AL 430,000 1,063,893 A\633,893
& 124,870
Al 305,130
402 QIZ2HR=01H 430,000 1,063,893 A\633,893
& 124,870
Al 305,130
03 2IZHIEFALS I 430,000 1,063,893 633,893
& 124,870
Al 305,130
S0 &t 430,000 1,063,893 633,893
& 124,870
Al 305,130
OEADIA SEXE A 430,000
& 124,870
Al 305,130




A AHIL
A UK K - 2522l (4e - SAI S L0 X/ KL XL RO )
2l IHXIRE ==2el (

SR
S - EHY - BR(31) - NSAY - BaS S SR b=
OIXF U KIALE KX 4,080 0 4,080
301 dEtENZ 4,080 0 4,080
11 HAIRHIX R 2 4,080 0 4,080
S0j &t 4,080 0 4,080
OgdA =Y =01 #xor
68,000 x60H 4,080
XS JHXl M2 4,034,530 49,804 3,984,726
= 1,500,000
& 620,000
Al 1,914,530
A TAIRIZE 22 68,266 27,374 40,892
101 @IZ4H| 20,880 19,988 892
M II2tH22HsSE 20,880 19,988 892
=0 A 20,880 19,988 892
Oslggael 22x 2= 20,880
oJlgg 57,7203 =18 260 15,008
oFFY 57,7203« 18«52 3,002
odisg 57,7203 x 1B+ 11 635
o 2HAH| 5,000 x 124247 1,235
o ZAEF I 500,000& 1523 1,000
201 et2AH| 7,386 7,386
01 AtR22teltl 2,000 2,000
=0 A 2,000 2,000
OF E=1= S INRE I 2,000
02 S32g94| 5,386 5,386
20 & 5,386 5,386
Oo&IIe2 360,000&*12& 4,320
Ox=&ER23 80,0002 122 %60
xalsl 8,800& *10H*12& 106
401 AIEHIZ2UIYI 40,000 0 40,000
01 AI&HI 40,000 0 40,000
20 & 40,000 0 40,000
OfgE" 2F3A 40,000
e B4 4,224 2,430 1,794
202 O4H| 4,224 2,430 1,794
01 =LHOH] 4,224 2,430 1,79
S0/ & 4,224 2,430 1,794
OX& 22| J2F&
83,0003 *3H x2 2 x83] 4,224
MATAIRIEE S SXIE) Al 3,002,040 0 3,002,040
= 1,500,000
= 450,000
Al 1,052,040
301 LetBAEZ 2,040 0 2,040
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algsainl;

S IUXIRE i - 232 (MY - SAINLLUHUE X/l KT K20 )
o EZ2XS JHX ML (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
11 HAIRHIX R 2 2,040 2,040
=0 A 2,040 2,040
O&ATAMALE dAstAte BIXI0r

68,000&*30E *13] 2,040
401 AIEHIZL 0L 3,000,000 0 3,000,000

= 1,500,000

& 450,000

Al 1,050,000
01 Al&H| 3,000,000 0 3,000,000

= 1,500,000

& 450,000

Al 1,050,000
=0 A 3,000,000 0 3,000,000

= 1,500,000

= 450,000

Al 1,050,000

O=AMAMAIRISEE 93 AAIAN

Sof 3,000,000

= 1,500,000

& 450,000

Al 1,050,000
Bt XY AN ZZ SHAF K& 20,000 20,000 0
307 2I2t0|A 20,000 20,000 0
04 DIZHSHAAIRE B X 20,000 20,000 0
20 & 20,000 20,000 0

OEHZYAL DX 2 20,000
A AR FHEFINA 940,000 0 940,000

= 170,000

Al 770,000
403 XEXISHHSAH=201 A 940,000 0 940,000

& 170,000

Al 770,000
02 SI712SHUstAH=E2E ALY 940,000 0 940,000

= 170,000

Al 770,000
S0 &t 940,000 0 940,000

& 170,000

Al 770,000

OAHAOHIIE XISE+ L ST M 600,000

OAEAOMNIE 2HET M 340,000

& 170,000

Al 170,000
AT RF2ORE (MY - SAIIGLH UK/ AMGEE - DS 4,224 503,888 AN499,664




SA: A
HI: AATE KRB (AR - SAIILRUUK/AYTES - DES)
S AT AR & 235 (e
S - B S(SH) - NISAY - BAS S SR HIDS2
AAN K2 2 B2 4,224 503,888 A499,664
ZATE 25 Mete |AZAtE DIty 4,224 503,888 A499,664
202 04| 4,224 3,888 336
01 =WHHI 4,224 3,888 336
=01 & 4,224 3,888 336
ORSXR &= Hete BSA J|prx
o A2 g9 88,0002 2 *123] x2 4,224
MErZol 22l (2Hd/U01) 5,306, 130 4,529,193 776,937
= 3,001,315
& 711,597
Al 1,593,218
CHOI&E 2tel 5,306,130 4,529,193 776,937
= 3,001,315
= 711,597
Al 1,593,218
HIIXS I ESAS 2,953,000 3,260,120 A307,120
= 1,782,000
& 359,900
Al 811,100
402 QIZ2ERH=01H 2,953,000 3,260,120 A307,120
= 1,782,000
& 359,900
Al 811,100
02 DIZENEAIE B X (01 & MA) 2,953,000 3,260,120 A307,120
= 1,782,000
& 359,900
Al 811,100
20i & 2,953,000 3,260,120 A307,120
= 1,782,000
& 359,900
Al 811,100
OXIIKSIHESE) F0H I 1,376,000
= 800,000
& 160,000
Al 416,000
O&MIIKNSIHI=2AE) 700 XA 1,239,000
= 826,000
& 118,000
Al 295,000
OMIINSIHSEZ=AE) 70 XA 338,000
= 156,000
& 81,900
Al 100, 100




SN

AH
Hu: BT 22 (B2/001)
Sl OO 22| (chel &2
S - B S9(3H) - NSAY - BES S SR HDS2
SHINSIIAMZAMS (SHZSI ZIIHIX KI) 1,332,220 574,633 757,587
= 666,110
o= 199,833
Al 466,277
402 QIZHRHE01A 1,332,220 574,633 757,587
= 666,110
T 199,833
Al 466,277
02 QIZIXIE AL E (0| THL) 1,332,220 574,633 757,587
= 666,110
= 199,833
Al 466,277
S0 A 1,332,220 574,633 757,587
= 666,110
< 199,83
Al 466,277
OLSHSH ZIIHT N (5S2)
1,600, 000& *355CH 568,000
= 284,000
== 85,200
Al 198,800
OLsHSH ZIIHT Na(US3)
4,000,000 *178CH 712,000
= 356,000
o= 106,800
A 249,200
OL=HSR ZIIET X (AEI1H)
3,730,000 *14CH 52,220
= 26,110
& 7,833
Al 18,277
Hel0| S| LPGXF Met A& Al 21,000 7,000 14,000
= 10,500
< 3,150
A 7,350
402 OIZHRFE0| A 21,000 7,000 14,000
= 10,500
< 3,150
Al 7,350
02 DIZHHE AL 2 X (0| M THLY) 21,000 7,000 14,000
= 10,500
< 3,150
Al 7,350
=0l & 21,000 7,000 14,000




S

AH
Hu: BT 22 (B2/001)
Sl OO 22| (chel &2
A - FH - RI(SIH) - NIRAR - BaS (ggj) @%%gm;ﬁ% e
= 10,500
o= 3,150
Al 7,350
OO0IRI0] S&tx12 LPaR} M X2 A
7,000,000 & *3CH 21,000
= 10,500
& 3,150
Al 7,350
SIS IIA M ZAFS (LPG 32 A A X)) 20,000 60,000 240,000
= 10,000
< 3,000
Al 7,000
402 CIZHRE0| A 20,000 60,000 40,000
= 10,000
& 3,000
Al 7,000
©? DAN=A SR (0 A 20,000 80,000 40,000
= 10,000
& 3,000
Al 7,000
=0 A 20,000 60,000 240,000
2 10,000
& 3,000
Al 7,000
OLPasi 24T 72! 1,000, 0002200k 20,000
= 10,000
< 3,000
Al 7,000
SHTNEI AN (ZSNT HSHZER = 22,900 132,000 89,100
=)
= 21,450
& 6,435
Al 15,015
402 QIZERFE0| A 42,900 132,000 289,100
= 21,450
< 6,435
Al 15,015
02 CIZEXIE AN E X (0| M RHSH) 42,900 132,000 289,100
= 21,450
== 6,435
Al 15,015
=04t 12,90 132,000 £89,100
= 21,450
< 6,435




SN ARl
M MEZIGH 2He(B/TI)
=2l o1& 2tel (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Al 15,015
OZR A=t A HAEX S22
3,300,000 = 13CH 42,900
= 21,450
& 6,435
Al 15,015
SIS INA KM DAL (AL A AT W H]) 115,500 165,000 49,500
= 69,300
& 13,860
Al 32,340
402 QIZ2HR=01H 115,500 165,000 249,500
= 69,300
== 13,860
Al 32,340
02 QX EAILE X (01X THE) 115,500 165,000 249,500
= 69,300
= 13,860
Al 32,340
20 & 115,500 165,000 49,500
= 69,300
& 13,860
Al 32,340
OAEI A A& WA 16,500,000 *7CH 115,500
= 69,300
& 13,860
Al 32,340
HIIRNSA SHUZL ASAL(BH5EII) 5,600 5,100 500
201 Ler23d| 5,600 5,100 500
01 AtS2teltl 3,200 2,700 500
204 & 3,200 2,700 500
OIS A 292 d2U
=rF 3,200
02 2223l 2,400 2,400
=0 A 2,400 2,400
OXINRZ, SRS 2,400
OIMIHA SEHHHE I 2ZAIKR ALY 394,000 141,260 252,740
= 197,000
& 59,100
Al 137,900
101 Q1244| 357,000 141,260 215,740
= 178,500
& 53,550
Al 124,950
M It 22 sSE s 357,000 141,260 215,740




S AT
M MEZIGH 2He(B/TI)
cielr CIE 22l (el me
. . rou 1 2 0 .
S - B S9(3H) - NSAY - BES S s HDS2
= 178,500
& 53,550
Al 124,950
S0 &t 357,000 141,260 215,740
= 178,500
= 53,550
Al 124,950
OBIMISX 2A101E 29 o124d| 357,000
= 178,500
& 53,550
Al 124,950
201 Ler23d| 37,000 0 37,000
= 18,500
& 5,550
Al 12,950
01 AtR22teltl 30,000 0 30,000
= 15,000
& 4,500
Al 10,500
S0 &t 30,000 0 30,000
= 15,000
= 4,500
Al 10,500
OOBIMISX 2A1018 29 XA 30,000
= 15,000
& 4,500
Al 10,500
02 2323l 7,000 0 7,000
= 3,500
& 1,050
Al 2,450
S0 &t 7,000 0 7,000
= 3,500
= 1,050
Al 2,450
OOINZX &2A1018 23 X=X 7,000
= 3,500
& 1,050
Al 2,450
SAIIEEA 2922 36,000 36,000 0
& 10,800
Al 25,200
201 et23H| 36,000 36,000 0




SN ARl
M MEZIGH 2He(B/TI)
=2l o1& 2tel (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
== 10,800
Al 25,200
01 AtS2teltl 12,000 12,000 0
& 3,600
Al 8,400
=0 A 12,000 12,000 0
& 3,600
Al 8,400
OSANUIISEA 222 (FEEH] A&
2 L FZHAM) 12,000
& 3,600
Al 8,400
02 323l 24,000 24,000 0
== 7,200
Al 16,800
20 & 24,000 24,000 0
& 7,200
Al 16,800
OZAUIIEEA 22 (A2I=2]) 24,000
& 7,200
Al 16,800
HII01EX ESAHS 36,960 41,580 A4,620
= 17,600
& 7,040
Al 12,320
402 QI2ERH201H 36,960 41,580 A4,620
= 17,600
& 7,040
Al 12,320
02 QIZENEAIEE X (01 &) 36,960 41,580 A4,620
= 17,600
& 7,040
Al 12,320
=0 A 36,960 41,580 24,620
= 17,600
& 7,040
Al 12,320
O&EIIXNSIHOIZAISXE) F0H XA 36,960
= 17,600
= 7,040
Al 12,320
A NSK ESAHS 345,000 106,500 233,500
= 225,000
& 48,000
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238,500

150
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150
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& E T 0f AHY
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Ofl ok
(BHH)

Al

72,000

345,000

i

225,000

H

48,000
72,000

345,000

Al

i

225,000

H

48,000
72,000
345,000
225,000

Al

i

H

48,000

72,000

Al

345,000

i

225,000

H

48,000

72,000

Al

150

75
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o

52

150

75
23

o

52

150

75
23

o

52

150

75
23

(T

52

150

75
23

mr WH

52

3,800

2,280

r

456

1,064

3,800

H

Al

S PE

- SRI(3) - HEAY

L

S A

=201

F

~J
ol

)

el

(01X TH

Ki
D

K= At

-

<J

il

34,500,000 +10CH
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F

~J
ol
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Ki
D
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=01
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S

AH
mr M D 2ol (22/00)
ciel G012l (e e
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% e
= 2,280
o= 456
Al 1,064
02 QIZIXIE2 AL E (0| THL) 3,800 0 3,800
= 2,280
& 456
Al 1,064
S0 A 3,800 0 3,800
= 2,280
° 456
Al 1,064
OJIEE M=A 222 B2(Yeh
100, 000& *20CH 2,000
= 1,200
o= 240
Al 560
OINEE HsAs 2U HI(WLSE)
600,000 *3CH 1,800
= 1,080
& 216
A 504
st 25 (/X)) 137,536 19, 152 118,384
= 82,240
Al 55,296
JIZHIINS YR 137,536 19,152 118,384
= 82,240
Al 55,296
SIENNH BAZOEN 22 A9 7,06 2.972 4,064
= 2,990
Al 4,046
202 Oi| 1,056 972 84
01 2oyl 1,056 gr2 84
=0 A 1,056 972 84
OJl=Hs (2ge 2
83,0002 x2 X +x63] 1,056
301 LBIEBXZ 5,980 2,000 3,980
== 2,990
Al 2,990
14 J|EI2 A= 5,980 2,000 3,980
= 2,990
Al 2,990
S0 A 5,980 2,000 3,980
= 2,990
Al 2,990




SIEEE (el me
S B SIS - MEAR - BaS (%'%fj:) @%%gm;ﬁ% D=2
OEAIZQIE QIMEIE K& 5,980
= 2,990
Al 2,990
JIZXNAAN AL &= N (DBAEE HERIAS 16,000 16,000 0
o EMg XI9)
= 8,000
Al 8,000
307 212t0| ™ 16,000 16,000 0
= 8,000
Al 8,000
02 DIZHEAMAIHE X 16,000 16,000 0
= 8,000
Al 8,000
=0 A 16,000 16,000 0
= 8,000
Al 8,000
OJSIAEIE HESRA 29 435 XNd 16,000
= 8,000
Al 8,000
ANsK EAZOIEH 29 2,500 180 2,320
= 1,250
Al 1,250
301 LEEN = 2,500 180 2,320
= 1,250
Al 1,250
14 JIEIE A2 2,500 180 2,320
= 1,250
Al 1,250
=0 A 2,500 180 2,320
= 1,250
Al 1,250
OXNEX HAIQIER 29 2,500
= 1,250
Al 1,250
JIE0| sz O|HHE I} 12,000 0 12,000
308 AXIHHMSOIA 12,000 0 12,000
11 2|2 SHUHSHE AR AEAIZHI 12,000 0 12,000
=01l A 12,000 0 12,000
OJIZRD| 22U 0|HI 59 12,000
IZ=XXA EtASE JI2HE =8 100,000 0 100,000
= 70,000
Al 30,000
308 AXISHHISOIA 100,000 0 100,000




2A: o3
Mz JoiEtd 285 (8 /A1)
ool JlsHsS LR
S - BB OQI(3I) - KISAI - BA (ggj) @%%gm;ﬁ% HDE2
= 70,000
Al 30,000
11 SIIASHUsEAA 100,000 100,000
= 70,000
Al 30,000
=01 A 100,000 100,000
= 70,000
Al 30,000
OJI=XAM EtASE D = 100,000
= 70,000
Al 30,000
A ZHI(AFL ) (OIEHDIEH 18,850 0 18,850
| u| 18,850 0 18,850
4| 18,850 0 18,850
1 LE2AH| 15,400 0 15,400
01 AtR2teld| 14,400 0 14,400
SH=O0I X 14,400 0 14,400
2 B232g| 1,000 0 1,000
SH=O0I X 1,000 0 1,000
202 04| 950 0 950
01 2LHAH Y] 950 0 950
SHSOIA 950 0 950
203 PR =&IH| 2,500 0 2,500
M4 BASRISL2FAY| 2,500 0 2,500
SH=O0IHI 2,500 0 2,500




